2021 F1RE ~ 20214F F6:A 202138120 (%£) ~ 20214118218(H)
WRFAZR 10 [AxE] * HERIRE (HE#H % 0.5)= 7.0
g B il Bk -7 R—IL K fE
fir 270 BAEISE i eI} R F fir 270 Bl i AT} -7 fir 270 F—ILR i 2RI i
1[XERK 1.98 1 (& XN 3 1ka & 2 1 (1L &K 4 1 [m&E kA 1 1[(KRERX 1.000
2 i &K 2.00 1|l 8K 3 1 [Lis #X 2 2 | KERXK 2 1|h& XA 1.000
3 [mE XN 4.50 3|KERK 2 3 |mE XN 1 3 |lulF #K .600
4 \kaF 7.56 3|kaiE 2 3|kaiE 1 4 |k&E .500
SEH =ik =iRE TR 5k SRR
fiL EAT] SeEt fir 20 E=IR fir EA T EoIRE| | e IR fir EAT] S mER i e SmERE
1 [Lis #K 1 1 [l 8K 34 1 [ &K 8.50 1[(KERX 164 1[XZERX 9 1 (s &KX 1.75
2 |hnE XN 11 2 |hnE KA 6.19 2 |lulg #K 178 2 |lig 8K 7 2 |hnE XN 2.81
3|KERK 3|kaiE 5.40 3 |ME XN 214 3 |mE XN 5 3|kaiE 5.40
4 |kBE 4| KERK 3.95 4 Ika & .265 3|k& B 5 4|KE RK 5.93
53EEk E BES K/BB WHIP MVP
fir 270 57EEk i AT} K= fir 20 BES i AT} K/BB fir 270 WHIP i 20 MVP
1 (& Kk 10 1[keE 11 18 KA 8 1 (1L &K 4.86 1 [l 8K 0.83 1 (1L &K 6
2 | KB RXK 3 2 [ &K 10 1 [Lis gK 8 2 |hnE XN 2.20 2 & RN 1.06 2 | KRB RXK 3
2 |l BX 3 |mE XN 8 3|keE 7 3|k E 1.00 3|KERK 1.32 2 |k & 3
4| KE BK 7 4|KE RK 3 4| KE BRK 0.67 4 \kaiFE 1.68 4 |hng KN 2




